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Electronic Circuits = MIMO network...
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Excited by a single multisine
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Classic solution: Add extra multisine
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Tickler multisine



LSSS Analysis offers a solution

fF(DC  +e(t)=f(DC) +elt): —f()

r=DC

FLS (1) +e(t) = F(LS () + e (1) - f (@

x=LS(t)




Small-signal sees the BLA as well
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Example: CMOS amplifier
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As expected, both technigues match
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As expected, both technigues match
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MIMO Is just multiple experiments
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Back to the example

-60

-80

-100

-120 ¢

140}

-160 |

-180

Y parameters [dB(Q '1)]

11 |7

12

21 |

22

20

40 60 80
Frequency [HZz]

100

11



Conclusions

Linearisation around MS = tickler issues solved
no danger of disturbing the operating point

Additional benefits
Single-tone excitation = flexible frequency grid
Contributions are smooth = less MS phase realisations

But! you need access to Large-Signal Small-Signal simulation



